Topic: Inequalities
Time: 10min

Paper-Maker Monika Awasthi

Directions (1-5): == iR 1T wai & fRw 1@ ot & RAfSer qeat & we water goriam 3w &,
T FIAT & A1 g Aoy R e §. R T et a7 s [t v srerae St s
el SALT FT FI9 HIOT

(a) TTT Faer TR | STE0T FTaT 2.

(b) T Faer AR || SFTTHTT 2T 2.

(c) =fE =T a7 o | A7 || AT F2aT &

(d) T T e | T & 1| SIHET FaT 2.

(e) Tt TAT FeHT | 3T || SIgEor 7 &.

Q1.%¥q: Q=N<B=U>D=Y>W<0
A 1: N<U Il: U>W
L1Difficulty 1

QTags Inequalities Reasoning

Q2. %Y. D>H>I<N>E2L=Q<P<X
fAse I: E<H II: N>Q
L1Difficulty 1

QTags Inequalities Reasoning

Q3. %Y X<L<U>0=P=S>D=N=M
fAs I N=0 II: N<O
L1Difficulty 1

QTags Inequalities Reasoning

Q4. 9. W>U>C<N=M>K<L=E=D
s I: K<U II: K2U
L1Difficulty 1

QTags Inequalities Reasoning

Q5. Y. Q>X<M<I>Y=D=F>V=>B
At Ik [>X II: Y2V
L1Difficulty 1

QTags Inequalities Reasoning

Directions (6-10): = T 7T wi & U 1T =i | AT acdl & 7eg dae I90ar 147 &,
T FHIAT & 9 g Ay faw 1 8. R 17 FoAt o) smafa et @ sreaaer FifSmg s
Tl ST FT T4 HIT:



(a) =TT Faer hy | SIgaeT 2T 2.
(b) =fT Faer e || STTaTor F3ar &.
(c) Tt =7 a1 ehd | 3T || sTgER Far g
(d) =T T a7 e | T &7 11 a2 F¥dT 2.
(e) =T TT Aoy | 37T || SITHTOT F7d 2.

Q6. FI: Q>H<D=>G>S=B<L=I<Z
A 1: 5<Z II: D=B
L1Difficulty 1

QTagsInequalities Reasoning

Q7. . H=B<C<N>M=X>P=L>D
e I: H<N II: M> L
L1Difficulty 1
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Q8. FYA: C>B<0<P=L>H=M=S>X
e 1: 0>S II: S<0
L1Difficulty 1
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Q9. Y. X>T<Y<B=C>M=0=P>Q
s I: T<C II: Q<M
L1Difficulty 1

QTagsInequalities Reasoning

Q10.HJM: S>W=N<X<K=]>Cz2V
A I w=K I: W<J
L1Difficulty 1
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Directions (11-15): == R g wi & A€ 10 ot § TS aeai & wea daer g @
§. T AT & 19 Fg [y fQu Tq §. U 70 et a7 sratia Aewt @6 sregae i
C | R FARSA RE I DE NI e

(a) T e AohY | STET FXaT 2.

(b) T2 Farer foh || SIaeT F2aT &.

(c) Tt =T a1 Feh | 3T || sTgEeor Fear g

(d) =T 7 a7 e | T &1 11 SIqE29T F7a 2.

(e) =fx TT A=Y | 37T 11 SIHTT FXd 2.

Q11.%¥T: W>G=H<B>S=D>N=M



A i I: G<B II: M<S
L1Difficulty 1
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Q12.%99: Y<T=X=B>N=D>H2z]
At I: Y<X II: J<X
L1Difficulty 1

QTags Inequalities Reasoning

Q13.&¥q: Q=C>R=P>F<E>M=<0

fAsFf I: Q<E II: F<R
L1Difficulty 1
QTags Inequalities Reasoning

Q14.FI9: 0<Q=V=D>W>G=YzJ>K
e 1 W>K Il: D>0
L1Difficulty 1
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Q15.%q: W>P =Z>] <Gz2[>0=2T=Q >S
st I: Gsw Il: W>G
L1Difficulty 1
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Solutions
Solutions (1-5):
S1. Ans(e)
Sol. I: N<U(True) II: U>W(True)

_
_

S4. Ans(c)
Sol. I: K<U(False) II: K=U(False)
Sol. I: I>X(True) II: Y>V(False)

Solutions (6-10):
S6. Ans(a)



Sol. I: S<Z (True)

S7. Ans(b)
Sol. I: H<N (False)

S8. Ans(d)
Sol. I: O>S (False)

S9. Ans(b)
Sol. I: T<C(False)

S10. Ans(c)
Sol. I: W=K(False)

Solution(11-15):
S11. Ans(b)
Sol. I: G<B(False)

S12. Ans(a)
Sol. I: Y<X(True)

S13. Ans(b)
Sol. I: Q<E(False)

S14. Ans(e)
Sol. I: W>K(True)

S15. Ans(d)
Sol. I: GsW(False)

II: D=B(False)

[I: M= L(True)

II: S<O(False)

II: Q<M(True)

II: W<](False)

II: M<S(True)

II: J<X(False)

II: F<R(True)

II: D>0O(True)

II: W>G(False)



